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d2

me; = —kap+ K(xq —2p) = —(k+ K)zp + Kzq (1)
d*x

m dt2Q = —kzq— K(zq—ap) = Kap — (k+ K)zq (2)
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d2

m—g(@p +12q) = —k(zp +zq) (3)
2
m%(wp —zq) = —(k+2K)(zp —zq) (4)
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2 K
(3)000 mdtq; = —kq L= (5)

d? k+2K
(4)00o mdtqj = —(k+2K)p cwp= g (6)
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q1 = Al Sin(wlt + 91)
qo = A2 sin(wgt + 92)
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Sxp = q1+ g2 = Arsin(wit + 01) + Agsin(wat + 65) (7)
rq = q1—q2= Arsin(wit + 61) — Agsin(wat + 62) (8)
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a= A;sinf + Ay sin by
0= A;sinf; — Ay sin by
0 = wiA; cos by 4+ wsAs cos by
0 = w1 Aq cos b1 — waAs cos by
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A1 = 5
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